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Homework Problems

4.4.1 Identify inflection points, local extrema, intervals of
increasing/decreasing, and concavity from graphs.

1-8, 103, 109-116.

4.4.2 Graph functions and find any extrema and inflection points.

9-58, 129-134.

4.4.3 Graph f(x) given information about the first and second
derivatives, such as functions, graphs, or sign behavior.

59-102, 104-108.

information about the function or its derivatives.

4.4.4 Solve applications involving graphs of functions and their 113-116.
derivatives.
4.4.5 Answer conceptual questions involving curve sketching using 117-128.
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